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General Instructions :

Read the following instructions carefully and follow them :

(1) This question paper contains 37 questions. All questions are compulsory.
(it) Question paper is divided into SIX sections — Section A, B, C, D, E and F.

(itt) Section A — Question number 1 to 20 are Multiple Choice type questions.

Each question carries 1 mark.

(iv) Section B - Question number 21 to 24 are Very Short Answer type
questions. Each question carries 2 marks. Answer to these questions

should not exceed 40 words.

(v) Section C — Question number 25 to 29 are Short Answer type questions.
Each question carries 3 marks. Answer to these questions should not

exceed 60 words.

(vi) Section D — Question number 30 to 33 are Long Answer (LA) type
questions. FEach question carries § marks. Answer to these questions

should not exceed 120 words.

(vit) Section E — Question number 34 to 36 are Case-based/Source-based

questions with three sub-questions. Each question carries 4 marks.

(viit) Section F — Question number 37 i1s Map Skill based question with two
parts — 37(a) History (2 marks) and 37(b) Geography (3 marks). This

question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired Candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired
Candidates only.
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(D) (A) Ted 2, 9g (R) @&l 8 |

2. N % &E Uk g1 ¥ Haied Hal forehed o1 == <hife : 1
A HIIH ICAEE B
(A) T ke BN EisteerH}
(B) AT, TEfeRet 3y e
(C) Tt g Eifa T AT
(D) i swhreft got GLll EEIC]
3. U9 g 9 qaa Hal faehed &1 95 HINT | 1

(A)  gferd, forcelt Amet ST Y
(B) =ImR, s 3 fyarg
(C) Torem, anforssr 3R St
(D) gT, Har 3 wfere
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SECTION - A (20 x 1 = 20)

(Multiple Choice Questions)

1. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option. 1
Assertion (A) : There was civil war in Sri Lanka.

Reason (R): An Act was passed in 1956 to secure dominance of Sinhala
community on the government.

Options :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(C) (A) 1s correct, but (R) 1s incorrect.

(D) (A) 1s incorrect, but (R) 1s correct.

2. Choose the correct option related to the regional political parties of India : 1
Party Name Election Symbol State
(A) Rashtriya Lok Dal Mashal Uttar Pradesh
(B) Telugu Desam Cycle Andhra Pradesh
(C) Telangana Rashtra Samiti  Kite Telangana
(D)  Shiromani Akali Dal Chashma Punjab
3.  Choose the correct option related to Union list. 1

(A) Police, Foreign affairs, Agriculture
(B) Trade, Irrigation, Marriage
(C) Education, Commerce, Banking

(D) Currency, Communication, Defence
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forerea

(A) $aA L IIaIIEEE |

(B) o IL I IVER T |

(C) HaA L, IIIVEHERE |

(D) A L, IIaIVEEE |

5. TAhad I IHA-SIEEA13A § FohT TR 98 & 7 oH 3Uge fohed I T shifoe | 1
(A) = SHferd <hl TTNHT h SGTET GAT 2 |
(B) I8 FARISHI o GHFAT I 9G@1 T2 |
(C) & heret Tl TefTfired ohl Tehfet ohl Sigrall 2T B |
(D) ¥E SAfeRIETE I TGTT ST 7 |

6. SfeTay 9 319 THE % gy % fore $8 Ul few | fefaRea sumt i ufew 3ii
&1 foreped o1 == IS 1
I. W SR &I T |
1. SgEEehaTE hi i T JTER |
II1.  9orft gugt sl gae Sfaffac Tem o |
IV. &t TR o1 e fat JeH ik |
forehey
(A) Sad L, 19 ITEE 2 |
B) A I, IS IVEEE |
(C) HaA L, IIIVEHERE |
(D) I IL I IV ER T |
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Read the following statements regarding the creation of States on the

basis of language in India and choose the correct options : 1

I.  Formation of states on the basis of language made the country more
united and stronger.

II. Formation of states on the basis of language made administration
easier.

III. Formation of states on the basis of language has weakened the
federal structure.

IV. Formation of states on the basis of language led to the development
of Indian languages.

Options :

(A) Only I, IT and III are correct.

(B) Only II, IIT and IV are correct.

(C) Only I, IT and IV are correct.

(D) Only I, ITI and IV are correct.

How 1s democracy better than other forms of Government ? Choose the
most appropriate option. 1
(A) It enhances the dignity of individuals.

(B) It promotes equality among elites.

(C) It promotes tendency of private ownership only.

(D) It increases the individualism.

Belgium took some measures to solve its problem. Read the following
measures and choose the correct option : 1
I.  Formation of community government.

II. Following majoritarian policy.

III. By providing equal representation of language groups.

IV. By providing additional powers to local governments.

Options :

(A) Only I, IT and III are correct.

(B) Only I, III and IV are correct.

(C) Only I, IT and IV are correct.

(D) Only II, IIT and IV are correct.
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Which state of India has the maximum area under permanent forest ? 1
(A) Haryana

(B) Himachal Pradesh

(C) Punjab

(D) Madhya Pradesh

8. Read the characteristics given in the box and identify the type of coal from

the option given below : 1

o This 1s low grade brown coal.
o The principal reserves are in Neyveli in Tamilnadu.

o It is soft with high moisture content.

Options :

(A) Pit Coal

(B) Anthrasite Coal
(C) Lignite Coal

(D) Bituminous Coal

9.  Which among the following crop is known as ‘Golden Fibre’ ? 1
(A) Cotton
(B) Wool
(C) Jute
(D) Silk
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11. T U f6aM § | Y w1 8g 30 =0 I awaehal § | Fafafea § @ R a w=w
HId T b TTT SATvEToreh W&t ¢ Herl SUerd ferehed o1 =2 hifvT :
I. &%
1. Y=
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ferepeq -

(A) et I, IIL 3 IV & |
(B) heret 1, 11 3 111 @&t & |
(C) et II, 11T 3R IV @& & |
(D) et I, II IRIV & 2 |

12. Terspma = forw ‘wfa safem s’ fFrafafea 9 @ fopesprr amige & 2
(A) EIH TY ferhra HrishA
(B) fova @ |t
(C) fova MR @A
(D) fowa s
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10. Choose the correctly matched pair : 1
I I1
(Multi-purpose River Project) (River)
(A) Gandhi Sagar — Chambal
(B) Hirakud —  Godavari
(C) Nagarjuna Sagar — Kaveri
(D) Salal —  Beas

11. Rama is a farmer. She needs loan for agriculture work. Which of the
following sources of loan will be beneficial for Rama ? Choose the most
appropriate option : 1
I.  Bank
II. Agricultural Trader
III. Self-Help Group
IV. Government
Options :

(A) Only I, III and IV are correct.
(B) Only I, IT and III are correct.
(C) Only II, IIT and IV are correct.
(D) Only I, IT and IV are correct.

12. ‘Per capita income’ is criterion for development of which one of the
following ? 1
(A) United Nations Development Programme
(B) World Health Organisation
(C) World Trade Organisation
(D) World Bank
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I. EThR IR SR i HH B 3 |

II. ThR IcaTeeh! § Ffcreaert <l o Shic 7 |
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foreen

(A) et I, I1 3R I 2 |

(B) whael I, 11 3R IV a2 |

(C) et I, I 3R IVE T |

(D) et I, II IR IV & 2 |

14. ‘mgre el T T TSR TR Sttt — 2005 @ AR fafafad & @ wF o

e TR TR 7

(A) TR @t frerfiEt & fore 100 fe7 w1 a5 gifeaa s 2 |

(B) TR gt arfior et & forw 200 e o1 s gifaa et 2
(C) HTHR gRI 39k Jid UTHIUT & T BT o Sl IS [T JTaT1 8 |

(D) TSR e § 38%eT T T TLeh R ATHIIIT o1 SUSTIRT W1 SeH it 2 |
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13. Read the following statements for stimulating the process of globalization

and choose the correct options : 1
I.  Government reduces trade barriers.

II.  Government reduces competition among producers.

III. Government reduces import and export taxes.

IV. Government removes restrictions on foreign investment.

Options :

(A) Only I, IT and III are correct.

(B) Only II, IIT and IV are correct.

(C) Only I, III and IV are correct.

(D) Only I, IT and IV are correct.

14. Which of the following provisions have been made under the ‘Mahatma

Gandhi National Rural Employment Guarantee Act — 2005 ? 1
(A) Government ensures 100 days of employment for all residents.

(B) Government ensures 200 days of employment for all rural residents.

(C) Government provides grains in exchange of work in rural areas.

(D) Government provides unemployment allowance to the beneficiaries

in case of failure to provide employment.
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AR (A) :  WRA | T T < ey o &9 1 bR fohan Jra B |
SO (R):  Towa do, YA § $93 1 YA o HIEAH & &9 § I8l Y¢H HidT 3 |
ferepeq :
(A) HI (A) W (R) @61 8 W (R), (A) i ¥&l AT 2 |
(B) GHI (A) Wl (R) @&l €, g (R), (A) ! Hel @ TE1 2 |
(C) (A) F& g, g (R) Telq 2 |
(D) (A) 7T &, g (R) ¥ 2 |

16. Toum <1 yg=ae i |

(&) fegwm Fed fafice (B) fegwm gfcfiet
(C) W Tee fafids (D) WA ST HaT

17. w9-1 1 T w99-11 9 hifse 31k feafafaa 1§ 8 a2 faeres w1 ==a hifse

-1 w=W-11
(SThIRI) (E)
a. S TS i.  qadic™
b. el i, S ey R
c.  UHENAHEH iii.  THEET T
d. FaKg g iv. STt TR foaetsh

ferpe

A) a-1 b-i1 c-iii  d-iv
B) a-u1 b-iii  c-1v d-1
(C) a-i1 b-iv  c-1 d-ii1
(D) a-iv b-1 c-ii d-ii1
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15. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option. 1
Assertion (A) : Rupees is accepted as medium of exchange in India.

Reason (R): The World Bank legalises the use of rupee as a medium of
payment in India.

Options :

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(C) (A) 1s correct, but (R) 1s incorrect.

(D) (A) 1s incorrect, but (R) 1s correct.

16. Find the odd one out. 1
(A) Hindustan Computers Limited
(B) Hindustan Unilever
(C) Bharti Airtel Limited
(D) Indian Postal Service

17. Match the Column-I with Column-II and choose the correct option from

the following : 1
Column-I Column-II
(Publications) (Authors)
a. Bengal Gazette 1. Tulsidas
b. Kesari 1. James August Hickey
c. Ramcharitmanas 1i. Ram Mohan Roy
d. Samvad Kaumudi iv. Bal Gangadhar Tilak
Options :

(A) ad  b-i  cdii deiv
(B) a-ii  b-ii  civ  d-i
(C) a-di  b-dv  ci  diii

(D) a-iv b4 cii  d-ii
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Frafefaa Weier aensll i Seigwies w0 § saftu ST it a8t fimed %
T HI 1
I Qe S S

II. HET3H HHITH 1 YR HANHT

II1. STt AT hl 3T

IV. <-= < gea

foreped -

(A) I, 1L III 3R IV (B) IV, II III3WI
(C) IV, II, I3WIII (D) I, 1L, IV 3 III

T STaTec] # SfRuT iRt 1 Tol Srel el fefefad R frm s d wfag grmen e 2 1
(A) Taforear = wrEt

(B) HH T 38T

(C) == W&

(D) ST I

geelt o frAfeTRaad el ol Tehishd seefl § el 84 % HIeTshATER SFaferd hifs
IR HET Tereheq 1 95 IR 1
I.

1. o gt

I, foaeh

ferpea

(A) T, II 3R III

(B) 1L, III 31

(C) I, III3WII

(D) 1II, I3RIII
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18. Arrange the following historical events in chronological order and choose
the correct option : 1
I.  Second Round Table Conference
II. Simon Commission arrives in India
III. Beginning of Dandi March
IV. Incident of Chauri-Chaura
Options :

A LII IIT and IV
(B) IV,IL Il and I
(C) IV, II, IandIII
(D) L II, IV and III

19. In the 17th century the city El Dorado in South America became famous as
which one of the following ? 1
(A) City of Diversity
(B) City of Gold
(C) Small pox City
(D) Trading City

20. Arrange the following regions of Italy in the order of their inclusion in the
Unified Italy and choose the correct option : 1
I.  Venetia
II. Savoy Sardinia
ITI. Sicilies
Options :
(A) L ITand III
(B) IIL IIT and I
(C) L IIIandII
(D) II, IandIII
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21. YR T Uield T o1 oy o)l feparm T 7 s <hifru | 2
22. il o -JLOTA Gl bl AT 1 ST & ? T T | 2
23. (a) YRR dfqe™ § gl gafRuerdr i semar ¢ & foft FiE 83U sy | 2
GO
(b) wfgemati i ardses sfad § rfigrt i gifead S &g #18 < U™ gs | 2
24. ¥ TE HAR refieh! 4 Jvefientor s ufshat w1 fohd TehR srgran feam » wae hifu | 2
@Ug -7 (5 x 3=15)
(eTg-Iad T I )

25.  Afom Swgal 3R AT hT AT fhE FhR 6T SIA & 7 Teh ITET o HIH ¥ WY

IR | 3
26. “TUU T It T & IR guh] § UEH Tehal ¥ Faferd foaR Sgae & e o I

¥ |” 39 YA ! RS I | 3
27. (a) T UG o 7T ITRGTRA fehedil <l IRl ohi T SHITT | 3

JHAYAT

(b) ST SGHUT h TeTT ITGRA Teohegl < ShTeh! shl TIE HINT | 3
28. TETHh TR TehTcHeh IMEH STaET & &Y ICTal0T Higd T T8 HifWT | 3
29. & SfifcehT iy i fopgl i fererwanati <Al = Hifu | 3
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SECTION -B (4x2=8)
(Very Short Answer Type Questions)

21. Why was the Rowlatt Act opposed in India ? Explain. 2

22. Why is it necessary to adopt non-conventional sources of energy ? Explain. 2

23. (a) Suggest any two measures to promote secularism as mentioned in

the Indian Constitution. 2
OR
(b) Suggest any two measures to ensure participation of women in
public life. 2

24. How did information and communication technology promote the process
of Globalization ? Explain. 2

SECTION - C (5x3=15)
(Short Answer Type Questions)

25. How are final goods and services calculated ? Explain through one
example. 3

26. “Ideas of national unity in early-nineteenth-century Europe were closely

allied to the ideology of liberalism.” Explain the statement. 3

27. (a) Explain any three factors responsible for water pollution. 3
OR

(b) Explain any three factors responsible for air pollution. 3

28. Differentiate between federal and unitary form of government with
examples. 3

29. Explain any three features of intensive subsistence farming. 3
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31.

32.

33.
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(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Qe - (4 x 5 = 20)
(el -3l wiw )

“Toerma & &g TER-foeft oft 1 dehd 2 |7 ICTEWI o HIEIH § Y hl T

HIT | 5
Jrean

Tarfir=T et 3 e gt i & foTe 3iea 31 & He ud Hmisii s Serewi afga

AT T | 5

“1956 T ST T T TR 3= LT Ta€Hi 3 Hfieiehl H ¢ TSR o o9 a0

THUE T &Y o T |7 36 e 61 gfE hifu | 5
Jrean

“grn § Areier iy gl o v favea sl agrdi 2 Vs R g i 1 5

STeAIg HeT ohi G foremanati st same it | 5
YT
Td § g1 e o it 91 v s@eh! STeareaehd 3l hi saren shifsr |
3+2=5

“18ff STt o SR fohdTall b U5 M B | fohd TR U i s T=h

T foefad g8 77 foeryor i | 5
JreEn

U Tehleh  WRATT WA o Sfiad 1 fh8 FhR Jwfaa fepam 7 foroerso

it | 5
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30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
I32/6/2
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SECTION -D (4 x5=20)

(Long Answer Type Questions)

“The goals of development may also be contradictory.” Examine the

statement through examples.
OR

Explain the significance and limitations of average income for

comparing different countries with examples.

“The law enacted in 1956 and other Constitutional Provisions led to
major conflict between the two communities in Sri Lanka.” Support

the statement.
OR

“Power sharing increases trust between different groups.” Support

the statement.

Explain the main features of alluvial soil.
OR

Explain the various stages of resource planning and its need in

India. 3+2=

“How did easy access to books develop a new culture of reading

during the 18th century ?” Analyse.
OR

How did printing technology affect the lives of Indian women ? Analyse.
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35.
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qE-F (3x4=12)

(g /Ed AT 939)

Frafeftaa wa =i afer 37t 3Hes = feu e g9 & 3w fafau
A1 fead i vhY, 26 SHal 1930

“gar favemm 3 o fopelt oft T Y g wRdfla SHar o1 off 98w srEwfiy
(inalienable) PR B foh 378 3! firet, AU Hed o1 ®ed el 3T Sfiaa 6 @ef
JTarvshard gil &1, e 32 311 e o uftyqel srawr firet | g0 =g ot fovama 2 16 =fe
i i TR 79 ST 1 37 PRI & afad Tt 8 37 ol 2 ol a1 bl off TR
%! TG AT I T FATH HT H1 IMHR g | WRA H a1 §EhR = 7 ohadl HRA
ST ol Taadl § dfad feram § dfces I8 SHaT o1 Twer feram & 3T <1 w1 i,
Tiferen, TTERfe T eTfors TR T Y e 7 | safe g frvems @ fo wma
1 ATEr ®9 F {577 o |11 379+ T FEEi bl THTH hleh IU1 RIS ITH T A1 |7
(34.1) ¥RA H TS oh! TN HATYhR T JHT =T 2
(34.2) €id T forT TR hl GLhR & TH H1 auia & 7
(34.3) WA H Torart & & fepegl 1 TuTa <hl SAweT hifay |

Frmfefaa wa =i afer 37t 3ues = feu e g9 & 3w fafau
T St ot STrawaehal

TSifeeh getl b1 363 Sfaffre W 3neTia Arhdiies STael o 3UR o 91 el
2 | B9 UG I & o 98 TH b fore ufafifire anenfta ofishas <l siewd &It 8 | 5
guTs o 3R et B IAd 2 a9 I fafi=1 gei W 31ei-31en foami o6l g 3 awhi
1 TR T A b T fereft mmeamy o woiet Y sieea Bt 7 | farfir=r smret @ s wfafafeme
1 A1 A hl TEILT Bl 8 dTich Teh FHIR TR T T34 &l Toh | 38 TR T a0
FH I W W 3N WA, At sam 3 Ao o1 wmeda sran fotig @ & fog
IUHN T T Bt B | Teeh T RI-Twenr 61 veft <11 off S&Xd Bt &, UsHifaeh g
Ih! U LA & | 39 TE &9 g Fohd & foh UsTITreh Gl EAlehadl ohl Ueh STHER 714 ¢ |
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34.

35.
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SECTION - E (3 x 4=12)

(Case/Source Based Questions)

Read the following source and answer the questions that follow :
The Independence Day Pledge, 26 January 1930

“We believe that it is the inalienable right of the Indian people, as of
any other people, to have freedom and to enjoy the fruits of their toil and
have the necessities of life, so that they may have full opportunities of
growth. We also believe that if any government deprives people of these
rights and oppresses them, the people have a further right to alter it or
abolish it. The British Government in India has not only deprived the
Indian people of their freedom but based itself on the exploitation of the
masses, and has ruined India economically, politically, culturally and
spiritually. We believe, therefore, that India must sever the British
connection and attain Purna Swaraj or Complete Independence.”
(34.1) Why was Swaraj considered as an inalienable right of the India ?
(34.2) Which type of government is supported in the source ?
(34.3) Explain any two effects of British rule in India.

Read the following source and answer the questions that follow :
The Need for Political Parties

As we have seen, large societies need representative democracy. As
societies became large and complex, they also needed some agency to
gather different views on various issues and to present these to the
government. They needed some ways, to bring various representatives
together so that a responsible government could be formed. They needed a
mechanism to support or restrain the government, make policies, justify
or oppose them. Political parties fulfil these needs that every
representative government has. We can say that parties are a necessary

condition for a democracy.

~



| (35.1) ‘TfdTeaTcHes Alehda’ ol Y T8 HIfT |
(35.2) TSIl T fohH TehR SHHA ol AT hid & ?
(35.3) TSTHIfdeh Tl ol Sllehdsl o ToTT SATIYIeh I a1 HIHT ST & 7 SATEHT <hifou |

36. Trferitad €ia i afew 3t 3oeh = fow e yei % 3w fofae :
HgeRi wffei | o
Sfehi s SFeATell UTHIOT &1 H T k9T 1 Toh 311 Gl Heshil HHiqal & | Teehrd dfHid
TEE 319 GATEHI b1 H &1 TEINT o fo1C Teha hid & | s YehR ! Taehrt afirfer
e §, 99 — fpEmi, S0 W@ Sl A6gU 3oanle sl Hehrl dmfadl |
FYh TEHI AT HAY 3 T Tk T I Ll § | 396 2300 Foram we=r § |
IZ 379 AT | SHI TTH A & | 39 1 Gofl 3l ROMEGR A 5T, 39 TahR) AiHfd 3

b | w1 o1 UTH foRam 2 | 39 Uoft ST STt TEwt Wl el ¢ o foTT Rt AT 7 | 7
0T AICH oSG %l hl G G & TRl ST HhelT & |

R HEehIl TN HY ITRT TG, Gl qUT 1Y AR FHA, AST] Tohe, T FM
3R 317 Tfo= yoh = =it o fotw =07 g st 2 |

(36.1) HeehT Hitfal o g fean S et kot forer 8157k o 37Tl AT ?
(36.2) T GERIT THE STel ford—arwur fohd TehR T hid & 7

(36.3) TEHRI HIHTRI shl BRIV shl SREAT HITTT |
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(35.1) Explain the meaning of ‘representative democracy’. 1
(35.2) How do political parties shape public opinion ? 1
(35.3) Why are political parties considered a necessary condition for a

democracy ? Explain. 2

36. Read the following source and answer the questions that follow : 4
Loans from Co-operatives

Besides banks, the other major source of cheap credit in rural areas are
the co-operative societies. Members of a co-operative pool their resources
for co-operation in certain areas. There are several types of co-operatives
possible such as farmers co-operatives, weavers co-operatives, industrial

workers co-operatives etc.

Krishak Co-operative functions in a village not very far away from
Sonpur. It has 2300 farmers as members. It accepts deposits from its
members. With these deposits as collateral, the co-operative has obtained
a large loan from the bank. These funds are used to provide loans to
members. Once these loans are repaid, another round of lending can take

place.

Krishak Co-operative provides loans for the purchase of agriculture
equipments, loans for cultivation and agricultural trade, fishery loans,

loans for constructions of houses and for variety of other expenses.

(36.1) Which sector includes credit facilities offered by Co-operative

Societies ? 1
(36.2) How do Self-Help Groups access external funding ? 1
(36.3) Explain the functioning of Co-operative Societies. 2
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Qs -9 (2+3=5)

(A T ARG 999)

37. (a) feuwwu vnd & UsHifaess War-amfE § € M A’ 3B % ®9 3 @wie 1 @ |
Frafefaa et i TREaT § 3= TgeTT 3R I Tl M 39 THT i T8

@3 W fAra :
A, I8 T T WA U g o1 JARERE 1927 § 3Tt foma 7 | 1
B. % T SI&I HeTHT e S 5 fret #SIgU % SR ol "qed TR | 1

e : FraferRaa s e gideita et o foe sea s@m 37(a) $ WA W E |

37. (a) (1) 39 AW 1Y fIRau Tt areda TS " &1 1927 G Aft@eaganar | 1

o

(ii) 39 M 1 A ARG & HeTew it = et 7orgu o SATGIe i =Iqedl fepT |

37. (b) YRA % &I ToHifae W@T-aHt W ffalaa & & fh=i &R =1 sugea i &

TIITEU 37N 3k A feifan

(i) TS fRd T SigiE a1y T 1
(i) TSI feurd e wgE wggl v 1
(iii) IS TR H e YR 1 Ueh TIE do & 1
(iv) I 9 TR T 3ruriers Solt T3 1
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SECTION - F (2+3=5)

(Map Skill Based Questions)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political outline
map of India. Identify them with the help of the following information

and write their correct names on the lines drawn near them :

A. The place where the session of Indian National Congress took

place in 1927. 1

B. The place where Mahatma Gandhi led the movement of cotton
mill workers. 1
Note: The following questions are for Visually Impaired Candidates
only in lieu of Question No. 37(a).
37. (a) (1) Name the place where the session of Indian National Congress
took place in 1927. 1
(1) Name the place where Mahatma Gandhi led the movement of

cotton mill workers. 1

37. (b) On the same outline map of India locate and label any three of the

following with suitable symbols :

(1) An International Airport located in Punjab. 1
(11) A major Sea port located in Gujarat. 1
(111) A major oil field of India located in Arabian Sea. 1
(1v) A Nuclear Power Plant located in Uttar Pradesh. 1
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e : FrefiRe e e gt T0ETRIG 3 R e e 37(b) ¥ T E | Bl
o 1 3o faflaw |

37. (b) () 38N ®1 AW iR J&T usre § Ush Saig a1 ue fRra 2 |
(i) 39 T 1 19 faRaw st o J v T gt o R B |
(iil) 3T IR T fRIq Wi deF &3 1 9 g |

(iv) 3T T o 3G T o1 A TARGT ST&T AT0Tfereh ol ohegg, STSTEIA § |
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Note : The following questions are for Visually Impaired Candidates
only in lieu of Question No. 37(b) (Attempt three).

37. (b) (1) Name the place where an International Airport is located in

Punjab. 1
(11) Name the place where major sea port is located in Gujarat. 1
(111) Name an oil field of India located in Arabian Sea. 1

(1iv) Name the place where nuclear power plant located in Uttar

Pradesh. 1
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Uy 9. 37 & fou gty
Map for Q. No. 37
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